# On Erdös-Lax Inequality Concerning Polynomials 

Irfan Ahmad Wani ${ }^{\text {a }}$, Ishfaq Nazir ${ }^{\text {a }}$, Mohammad Ibrahim Mir ${ }^{\text {a }}$<br>${ }^{a}$ Department of Mathematics, University of Kashmir, South Campus Anantnag-192 101, Jammu and Kashmir, India.


#### Abstract

Recently Milovanović et al. [Bulletin T.CLIII de l'Acaémie serbe des sciences et des arts - 2020.] proved that if $P(z) \in \mathbb{P}_{n}$ with no zeros in $|z|<k, k \geq 1$, then, $\left|P^{\prime}(z)\right| \leq \frac{\|P\|}{2}\left[n-\left\{n\left(\frac{k-1}{k+1}\right)+\frac{2}{k+1}\left(\frac{\left|c_{0}\right|-k^{n}\left|c_{n}\right|}{\left|c_{0}\right|+k^{n}\left|c_{n}\right|}\right)\right\} \frac{|P(z)|^{2}}{\|P\|^{2}}\right], \quad|z|=1$, where $P(z)=c_{0}+c_{1} z+\cdots+c_{n} z^{n} \in \mathbb{P}_{n}$ is a polynomial of degree $n$. In this paper, we obtain some results concerning the class of polynomials having $s$-fold zero at origin. These results not only generalizes but also refines many well-known results due to Milovanović.


## 1. Introduction

For any arbitrary entire function $P$, let $\|P\|=\max _{|z|=1}|P(z)|$ denoted the uniform norm of $P$ on the unit disk $|z|=1$. Let $\mathbb{P}_{n}$ denote the space of all algebraic polynomials of the form $P(z)=\sum_{j=0}^{n} c_{j} z^{j}$ of degree $n$ and let $P^{\prime}(z)$ be its derivative. The study of inequalities for different norms of derivatives of a univariate complex polynomial in terms of the polynomial norm is a classical topic in analysis. A classical inequality that provides an estimate to the size of the derivative of a given polynomial on the unit disk, relative to size of the polynomial itself on the same disk is the famous Bernstein inequality [3]. It states that: if $P(z)$ is a polynomial of degree $n$, then on $|z|=1$,

$$
\begin{equation*}
\left\|P^{\prime}(z)\right\| \leq n\|P(z)\| \tag{1}
\end{equation*}
$$

Equality holds in (1) if and only if $P(z)$ has all its zeros at the origin.
Concerning the estimation of the upper bound of $\max _{|z|=1}\left|P^{\prime}(z)\right|$, it was conjectured by Erdös and later proved by Lax [4] that if $P(z)$ is a polynomial of degree $n$ and $P(z) \neq 0$ in $|z|<1$, then,

$$
\begin{equation*}
\left\|P^{\prime}(z)\right\| \leq \frac{n}{2}\|P(z)\| \tag{2}
\end{equation*}
$$

[^0]Inequality (2) was further sharpened by Aziz and Dawood [1] in the form

$$
\begin{equation*}
\left\|P^{\prime}(z)\right\| \leq \frac{n}{2}\left\{\|P(z)\|-\min _{|z|=1} P(z)\right\} \tag{3}
\end{equation*}
$$

Equality in (2) and (3) holds for any polynomial which has all its zeros on $|z|=1$. Various extension of (2) and (3) are known in the literature on various regions of the complex plane (see, for example Govil[5], Malik [7], Milovanović et al. [9] and Rahman and Schmeisser [10]). Recently Milovanović et al.[8] generalize and strengthen the inequalities (2) and (3). In fact, they proved if $P(z)=c_{0}+c_{1} z+\cdots+c_{n} z^{n}$ is a polynomial of degree $n$ having no zeros in $|z|<k, k \geq 1$, then for $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{\|P\|}{2}\left[n-\left\{n\left(\frac{k-1}{k+1}\right)+\frac{2}{k+1}\left(\frac{\left|c_{0}\right|-k^{n}\left|c_{n}\right|}{\left|c_{0}\right|+k^{n}\left|c_{n}\right|}\right)\right\} \frac{|P(z)|^{2}}{\|P\|^{2}}\right] \tag{4}
\end{equation*}
$$

Equality in (4) holds for $P(z)=(z+k)^{n}$, evaluated at $z=1$. For $k=1$ in (4), Milovanović et al. [8] proved the following refinement of (2). In fact, they proved if $P(z)=c_{0}+c_{1} z+\cdots+c_{n} z^{n}$ is a polynomial of degree $n$ having no zeros in $|z|<1$, then for $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{\|P\|}{2}\left[n-\left(\frac{\left|c_{0}\right|-\left|c_{n}\right|}{\left|c_{0}\right|+\left|c_{n}\right|}\right) \frac{|P(z)|^{2}}{\|P\|^{2}}\right] \tag{5}
\end{equation*}
$$

In the same paper, they also given the generalization of inequality (4). In fact, they proved if $P(z)=$ $c_{0}+c_{1} z+\cdots+c_{n} z^{n}$ is a polynomial of degree $n$ having no zeros in $|z|<k, k \geq 1$, then for $0 \leq t \leq 1$ and $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{\|P\|-t m}{2}\left[n-\left\{n\left(\frac{k-1}{k+1}\right)+\frac{2 C_{n}(k, t)}{k+1}\right\}\left(\frac{|P(z)-t m|}{\|P\|-t m}\right)^{2}\right] \tag{6}
\end{equation*}
$$

where $m=\min _{|z|=k} P(z)$ and $C_{n}(k, t)=\frac{\left|c_{0}\right|-t m-k^{n}\left|c_{n}\right|}{\left|c_{0}\right|-t m+k^{n}\left|c_{n}\right|}$.
Equality in (6) holds for $P(z)=(z+k)^{n}$, evaluated at $z=1$.

## 2. Main Results

In this paper, we obtain the results which generalize inequality (4) and (5). First we prove the result on the class of polynomials having s-fold zero at origin and all other zeros in $|z| \geq k, k \geq 1$. In fact, we prove

Theorem 2.1: Let $P(z)=z^{s}\left(c_{0}+c_{1} z+\cdots+c_{n-s} z^{n-s}\right), 0 \leq s \leq n$, be a polynomial of degree $n$ having no zero in $|z|<k, k \geq 1$ except at $z=0$, then for $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{\|P\|}{2}\left[n-\left\{\left(\frac{n(k-1)-s(2 k)}{k+1}\right)+\frac{2}{k+1}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right)\right\} \frac{|P(z)|^{2}}{\|P\|^{2}}\right] \tag{7}
\end{equation*}
$$

Moreover, the equality in (7) holds if $P(z)=z^{s}(z+k)^{n-s}$, evaluated at $z=1$.
For the case $k=1$, we get the following refinement of (2).
Corollary 2.2: Let $P(z)=z^{s}\left(c_{0}+c_{1} z+\cdots+c_{n-s} z^{n-s}\right), 0 \leq s \leq n$, be a polynomial of degree $n$ having no zero in $|z|<1$ except at $z=0$, then for $|z|=1$

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{\|P\|}{2}\left[n+\left\{s-\left(\left.\frac{\left|c_{0}\right|-\left|c_{n-s}\right|}{\left|c_{0}\right|+\left|c_{n-s}\right|} \right\rvert\,\right)\right\} \frac{|P(z)|^{2}}{\|P\|^{2}}\right] \tag{8}
\end{equation*}
$$

Remark 2.3: For $s=0$ in inequalities (7) and (8), then Theorem 2.1 reduces to inequality (2) and Corollary 2.2 reduces to (5).

Next, we prove the following result which generalize the Theorem 2.1. In fact, we prove
Theorem 2.4: Let $P(z)=z^{s}\left(c_{0}+c_{1} z+\cdots+c_{n-s} z^{n-s}\right), 0 \leq s \leq n$, is a polynomial of degree $n$ having no zero in $|z|<k, k \geq 1$ except at $z=0$, then for $0 \leq t \leq 1$ and $|z|=1$

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{1}{2}\left[n(\|P\|+t m)-\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k} C_{n}(k, t)\right\}\left(\frac{(|P(z)|-t m)^{2}}{\|P\|-t m}\right)\right], \tag{9}
\end{equation*}
$$

where $m=\min _{|z|=k} P(z)$ and $C_{n}(k, t)=\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|+k^{n-s} t m}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|-k^{n-s} t m}$.
Equality in (9) holds for $P(z)=z^{s}(z+k)^{n-s}$, evaluated at $z=1$.
Remark 2.5: For $t=0$ Theorem 2.4 reduces to Theorem 2.1.
Put $k=1$ in inequality (9), we obtain the following refinement of (3).
Corollary 2.6: Let $P(z)=z^{s}\left(c_{0}+c_{1} z+\cdots+c_{n-s} z^{n-s}\right), 0 \leq s \leq n$, be a polynomial of degree $n$ having no zero in $|z|<1$ except at $z=0$, then for $0 \leq t \leq 1$ and $|z|=1$

$$
\begin{equation*}
\left|P^{\prime}(z)\right| \leq \frac{1}{2}\left[n(\|P\|+t m)+\left\{s-\frac{\left|c_{0}\right|-\left|c_{n-s}\right|+t m}{\left|c_{0}\right|+\left|c_{n-s}\right|-t m}\right\}\left(\frac{(|P(z)|-t m)^{2}}{\|P\|-t m}\right)\right] \tag{10}
\end{equation*}
$$

where $m=\min _{|z|=1} P(z)$.

## 3. Auxiliary Results

For the proof of main results we need the following lemmas.
Lemma 3.1: If $P(z)=c_{0}+c_{1} z+c_{2} z^{2}+\cdots+c_{n} z^{n}$ be a polynomial of degree $n$ having no zeros in $|z|<k, k \geq 1$, then for each point $z$ on $|z|=1$ for which $P(z) \neq 0$, we have

$$
\begin{equation*}
\operatorname{Re}\left(\frac{z P^{\prime}(z)}{P(z)}\right) \leq \frac{1}{1+k}\left\{n-\frac{\left|c_{0}\right|-k^{n}\left|c_{n}\right|}{\left|c_{0}\right|+k^{n}\left|c_{n}\right|}\right\} . \tag{11}
\end{equation*}
$$

The above lemma is due to Milovanović et al. [8].
Lemma 3.2: If $P(z)$ is a polynomial of degree $n$, then for $|z|=1$, we have

$$
\begin{equation*}
\left|P^{\prime}(z)\right|+\left|Q^{\prime}(z)\right| \leq n\|P(z)\| \tag{12}
\end{equation*}
$$

where $Q(z)=\overline{z^{n} P\left(\frac{1}{\bar{z}}\right)}$.
The above lemma is due to Govil and Rahman [6].

## 4. Proof of Main Results

Proof of Theorem 2.1: Let $P(z)=z^{s} F(z) \in \mathbb{P}_{n}$, where $F(z)=c_{0}+c_{1} z+\cdots+c_{n-s} z^{n-s}, 0 \leq s \leq n$, then on $|z|=1$,

$$
\begin{equation*}
\operatorname{Re}\left(\frac{z P^{\prime}(z)}{P(z)}\right)=s+\operatorname{Re}\left(\frac{z F^{\prime}(z)}{F(z)}\right) . \tag{13}
\end{equation*}
$$

Since $F(z)$ is a polynomial of degree $n-s$ has no zero in $|z|<k, k \geq 1$. Therefore, on applying inequality (11) to $F(z)$, we have for all points $z$ on $|z|=1$, with $P(z) \neq 0$

$$
\begin{equation*}
\operatorname{Re}\left(\frac{z P^{\prime}(z)}{P(z)}\right) \leq s+\frac{1}{1+k}\left\{(n-s)-\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right\} \tag{14}
\end{equation*}
$$

If $Q(z)=\overline{z^{n} P\left(\frac{1}{\bar{z}}\right)}$, then it easily follows that $\left|Q^{\prime}(z)\right|=\left|n P(z)-z P^{\prime}(z)\right|$ for $|z|=1$.
This implies for $|z|=1$,

$$
\begin{aligned}
\left|\frac{Q^{\prime}(z)}{P(z)}\right|^{2} & =\left|n-\frac{z P^{\prime}(z)}{P(z)}\right|^{2} \\
& =n^{2}+\left|\frac{z P^{\prime}(z)}{P(z)}\right|^{2}-2 n \operatorname{Re}\left(\frac{z P^{\prime}(z)}{P(z)}\right)
\end{aligned}
$$

Which by (14) yields for $|z|=1$,

$$
\left|\frac{Q^{\prime}(z)}{P(z)}\right|^{2} \geq\left|\frac{z P^{\prime}(z)}{P(z)}\right|^{2}+\frac{(k-1) n^{2}-n s(2 k)}{k+1}+\frac{2 n}{1+k}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right)
$$

This gives for $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)\right|^{2}+n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right)\right\}|P(z)|^{2} \leq\left|Q^{\prime}(z)\right|^{2} \tag{15}
\end{equation*}
$$

Inequality (15) gives, by using lemma 3.2 that for $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)\right|^{2}+n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right)\right\}|P(z)|^{2} \leq\left(n\|P\|-\left|P^{\prime}(z)\right|\right)^{2} . \tag{16}
\end{equation*}
$$

This implies

$$
2 n\|P\|\left\|\left.P^{\prime}(z)\left|\leq n^{2}\|p\|^{2}-n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right)\right\}\right| P(z)\right|^{2}\right.
$$

Which gives

$$
\left|P^{\prime}(z)\right| \leq \frac{\|P\|}{2}\left[n-\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|}\right)\right\}\left(\frac{P(z)}{\|P\|}\right)^{2}\right]
$$

That proves the Theorem 2.1 completely.
Proof of Theorem 2.2: Let $P(z)=z^{s} F(z) \in \mathbb{P}_{n}$, where $F(z)=c_{0}+c_{1} z+\cdots+c_{n-s} z^{n-s}, 0 \leq s \leq n$, and $F(z)$ has all zeros in $|z| \geq k, \quad k \geq 1$. If $P(z)$ has a zero on $|z|=k$, then $m=\min _{|z|=k} P(z)=0$ and the result follows from Theorem 2.1 in this case. Henceforth, we suppose that all the zeros of $F(z)$ lie in $|z| \geq k$ so that $m>0$.
Since $m \leq|P(z)|$ for $|z|=1$, therefore if $\beta$ is any complex number with $|\beta| \leq 1$, then for $|z|=1$ we have

$$
\begin{equation*}
\left|m \beta z^{n}\right|<|P(z)| \tag{17}
\end{equation*}
$$

Since $n-s$ zeros of $P(z)$ are $|z| \geq k, \quad k \geq 1$, it follows by Rouche's Theorem $n-s$ zeros of $P(z)-m \beta z^{n}$ are $|z| \geq k, \quad k \geq 1$. On applying inequality (4.3) to the polynomial $P(z)-m \beta z^{n}$, we get for every $|\beta|<1$ and $|z|=1$,

$$
\begin{equation*}
\left|P^{\prime}(z)-n m \beta z^{n-1}\right|^{2}+n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k}\left(\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}-\beta m\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}-\beta m\right|}\right)\right\}\left|P(z)-\beta m z^{n}\right|^{2} \leq\left|Q^{\prime}(z)\right|^{2} \tag{18}
\end{equation*}
$$

By Triangles inequality, we have for $|z|=1$,

$$
\begin{equation*}
\left|P(z)-\beta m z^{n}\right| \geq|P(z)|-|\beta| m \tag{19}
\end{equation*}
$$

and note that

$$
\begin{equation*}
\| P(z)|-|\beta| m|^{2}=(|P(z)|-|\beta| m)^{2} \tag{20}
\end{equation*}
$$

So that, from (19) and (20), we obtain for $|z|=1$

$$
\begin{equation*}
\left|P(z)-\beta m z^{n}\right|^{2} \geq(|P(z)|-|\beta| m)^{2} \tag{21}
\end{equation*}
$$

Similarly, we get for $|z|=1$

$$
\begin{equation*}
\left|P^{\prime}(z)-\beta n m z^{n-1}\right|^{2} \geq\left(\left|P^{\prime}(z)\right|-|\beta| m n\right)^{2} . \tag{22}
\end{equation*}
$$

Also, for every $\beta$, we have

$$
\left|c_{n-s}-\beta m\right| \geq\left|c_{n-s}\right|-|\beta| m,
$$

and since the function

$$
x \rightarrow \frac{x-k^{n-s}\left|c_{n-s}\right|}{x+k^{n-s}\left|c_{n-s}\right|} \quad(x \geq 0)
$$

is non-decreasing, it follows that

$$
\begin{equation*}
\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}-\beta m\right|}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}-\beta m\right|} \geq \frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|+k^{n-s}|\beta| m}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|-k^{n-s}|\beta| m}=C_{n}(k,|\beta|) \tag{23}
\end{equation*}
$$

where

$$
C_{n}(k,|\beta|)=\frac{\left|c_{0}\right|-k^{n-s}\left|c_{n-s}\right|+k^{n-s}|\beta| m}{\left|c_{0}\right|+k^{n-s}\left|c_{n-s}\right|-k^{n-s}|\beta| m}
$$

Using (21), (22) and (23) in (18), we get for every $\mid \beta<1$ and $|z|=1$,

$$
\begin{equation*}
\left(\left|P^{\prime}(z)\right|-|\beta| m n\right)^{2}+n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k} C_{n}(k,|\beta|)\right\}(|P(z)|-|\beta| m)^{2} \leq\left|Q^{\prime}(z)\right| \tag{24}
\end{equation*}
$$

which gives by using Lemma 3.2 for $|z|=1$, that

$$
\begin{equation*}
\left(\left|P^{\prime}(z)\right|-|\beta| m n\right)^{2}+n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k} C_{n}(k,|\beta|)\right\}(|P(z)|-|\beta| m)^{2} \leq\left(n\|P\|-\left|P^{\prime}(z)\right|\right)^{2} \tag{25}
\end{equation*}
$$

equivalently for $|z|=1$,

$$
2 n(\|P\|-|\beta| m)\left|P^{\prime}(z)\right| \leq n^{2}\left(| | P \|^{2}-(|\beta| m)^{2}\right)-n\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k} C_{n}(k,|\beta|)\right\}(|P(z)|-|\beta| m)^{2}
$$

which gives for $|z|=1$ and $|\beta|<1$,

$$
\left|P^{\prime}(z)\right| \leq \frac{1}{2}\left[n(\|P\|+|\beta| m)-\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k} C_{n}(k,|\beta|)\right\}\left(\frac{(|P(z)|-|\beta| m)^{2}}{\|P\|-|\beta| m}\right)\right]
$$

taking $|\beta|=t$, so that $0 \leq t \leq 1$, we get

$$
\left|P^{\prime}(z)\right| \leq \frac{1}{2}\left[n(\|P\|+t m)-\left\{\frac{n(k-1)-s(2 k)}{k+1}+\frac{2}{1+k} C_{n}(k, t)\right\}\left(\frac{(|P(z)|-t m)^{2}}{\|P\|-t m}\right)\right]
$$

That proves the Theorem 2.2 completely.

## 5. Acknowledgements

The authors are deeply indebted to the anonymous referees for their valuable suggestions which greatly improved the presentation of this paper.

## References

[1] A. Aziz, Q. M. Dawood, Inequalities for a polynomial and its derivative, J. Approx. Theory 54 (1988), 306-313.
[2] A. Aziz, N. A. Rather, New Lq inequalities for polynomials, Math. Inequal. Appl. 1 (1998), 177-191.
[3] S. Bernstein, Sur l'ordre de la meilleure approximation des functions continues par des polynºmes de degr'e donn'e, Mem. Acad. R. Belg. 4 (1912), 1-103.
[4] P. D. Lax, Proof of a conjecture of P. Erdös on the derivative of a polynomial, Bull. Amer. Math. Soc. 50 (1944), 509-513.
[5] N. K. Govil, Some inequalities for derivative of polynomials, J. Approx. Theory 66 (1991), 29-35.
[6] N. K. Govil, Q. I. Rahman, Functions of exponential type not vanishing in a half plane and related polynomials, Trans. Amer. Math. Soc. 137 (1969), 501-517.
[7] M. A. Malik, On the derivative of a polynomial, J. London Math. Soc. 1 (1969), 57-60.
[8] G. V.Milovanović, A.Mir, A.Hussain and A. Ahmad, A Note On Sharpening Of The Erdös - Lax inequality concerning polynomials, Bulletin T.CLIII de l'Acaémie serbe des sciences et des arts - 2020.
[9] G. V.Milovanović, A.Mir, On the Erdös - Lax Inequality Concerning Polynomials,Math. Inequal. Appl. 23 (2020), 1499-1508.
[10] Q. I. Rahman, G. Schmeisser, Analytic Theory of Polynomials, Oxford University Press, 2002.


[^0]:    2020 Mathematics Subject Classification. Primary 30A10, 30C10, 30 C15.
    Keywords. Bernstein-type inequalities, Extremal coefficients, Erdös-Lax inequality.
    Received: 01 December 2021; Accepted: 20 August 2022
    Communicated by Dragan S. Djordjević
    No funding agency
    Email addresses: irfanmushtaq62@gmail.com (Irfan Ahmad Wani), ishfaqnazir02@gmail.com (Ishfaq Nazir), ibrahimmath80@gmail.com (Mohammad Ibrahim Mir)

